LSHh3IFERGRNMNEENL—-—F-IL U— | ORF- B - BBERERAKXE

N o <n-I>
A/X— | B/x— 21 RETH24y b2y F
N 3 BT |\ 25 cFTa—AbY
(RERNEHD (RETNZRD BRIy bR, BRAETRE
F—IL: T R—IL: AT cZNFND/N— T | LHER
KEED2F—LTEHEITI.
[} 2 3 4 5
5 8
RS | &R | fAM | nm=sF| Fgik
""‘:* 2 O 21 - 13 0 {? E’H‘
[p O 21 — 15 -:.-ﬂ'x-;-ﬁ
(@] x x x (@) (@) x X b3 2 [ =)
*) 21 18 14 16 21 21 10 12
& [ [ [ [ [ [ [ [
3 21 21 21 13 13121 21 2 0
< | O < | x| x| x| x| x O|0O
=11 3]21 11[1o]lis] 9 Jio] 10 21121 14] 2
Bl ] HEE RN RERGY b2| | | |
21 18 21 21 21 21 21 21 1l s b6 b5 21121
(@] (@] (@) (@) (@] (@) x x
78 21 21 21 21 21 21 12 q O‘ O
AT HEE R 0 2
1al1el11 |10 1ol 6 2121 6 7
X[ x]J]o]o]| x| x x | x ~, b4
;;1;'; 13|/ 13|21{21] 10 6 3 E;ﬁ O 22 — 20 “’B
=2 I NN 2531 =10 1° Fic T
¥ 21 21 15 q 21 21 21 21 ﬁ%
(@) (@) (@] (@) (@) (@) (@) (@]
fig 21 21 21 21 21 21 21 21
NN N b5
1of12]1o0]10] 12| 9 3| g = - O 21 - 3 " .
=1 & 7 > 3 5 1 =R AR |2 - 55r—7—10°| #r i "R
a8 3 | 6 2 8 . 3 3
m/a| 134 165 109 150 75 @R IS F b6 EER| BELF
x&| 133 89 147 96 168 E% 5 21 = 10 FEMH
2| 1.008 | 1.854 | 0.741 1.563 | 0.446 2 O urs
R 3 | - > S *F O 21 — 14 EH ]
JBRLRE ey bE R4 bR
[OFE QEYFE OFAFE Gaknx]| [FEEYFr Rety FrRxey ) | | Reer ReetiRExs) |
A o <n-i>
C/x—} D/x— | 21 BETH28Y beyF
(B IL A (KiRNFRD (B EY bR, BRAZTRE
R—IL: BT F—IL: SAYF c ZFNTND/N— T LB
XEEND2F—LTEHEITI.
q 12 13 16
H#:i% 0 20 — 22 2 F'BI =E 0 19 — 21 Of, E7§i
’ 16 — 21 #_} _— IT — 21 O %_}.
c3 d3
2 0 2 2
O|0O O|0O
21(21 19| 8 21(21 21{21
| {1 el c2| || | | {1 |dl d2| | | |
12|14 c6 c5 21|21 q|7 dé d5 8| 6
0 2 0 0
10 1 14 15
c4 d4 p—
9 — 21 O = 12 — 21 O FE].
BE 0 4 — 21 O 2 j‘tI/%E ﬁﬁmﬁ 0 7 — 21 O 2 %_}‘
c5 d5
R 2 — 210 8 18 == - O 22 - 20 P ET s
BfEH| O 7 — 210 2 (RE -1 ItRE =g |2 o 3T =13 (o] Bz & | BERBF
HEW| PELF KBRS =F
c6 dé
9 — 21 O =) 7 — 21 O FwiER
BR 10— =21 0] 2| «7 REM O —F—>7512| 87
JBRLRE ey bE A b£
[OFE Qv FE QFAFE Gakiax]| [BREyFr BREEy F+Rxey F) | | RERs REaTRER) |




